o

Air gripper(parallel open/close type) AIl'TAL

HFC Series
O Specification
Bore size (mm) 16 20 25 32 40 50 63
Acting type Double acting
Fluid Air(to be filtered by 40 p m filter element)
Operating pressure 0.2~0.6MPa(28~87psi)(2.0~6.0bar)\ 0.15~0.6MPa(22~87psi)(1.5~6.0bar)
Temperature °C -10~60
Lubrication Not required
Repeatability mm +0.01
Max. frequency 120(c.p.m) \ 60(c.p.m)
Sensor switches (1) DS1-H, DS1-HL
Port size M3x0.5 | M5 x 0.8
(1) Sensor switch should be ordered additionally, please refer to P457~480 for detail of sensor switch.
O Ordering code
Model Bore size
O Symbol [HFC: Air finger(Double acting, parallel type)| 16: ®16mm
20: ®20mm
Finger type ® 25: ®25mm
I: Two grippers - _A
’ S 40:. ®©40mm
50. ®50mm
63: ©63
O Product feature —
1. Cuniform block is adopted in the interior of the air gripper to afford larger
gripper force.
2. The bumper is adopted in the front of piston, which can reduce the noise of
metal bump.
3. Apositioning hole is attached to the bottom of the body, which can improve the
precision and the consistency of repeated dismounting and positioning.
4. Precision repeating snatch which adopted roboticized equipment.
5. Kinds of series and styles for you to choice which snatch multiform workpiece.
O Gripping force and strok
Gripping force and stroke Note: HFC series are all attached with magnet.
Gripping force per finger Opening/Closing
Effective valve(N) stroke (Both . .
- External sides) (mm) O Inner structure and material of major parts
HFCI16 |23 21 4
HFCI20 |42 37 4 NO. Item Material
HFCI25 7 63 6 1 |Cclip Spring steel
2 grippers |HFCI32  [123 11 8 2 |0-ring NBR
HFCI40 [195 177 8 3 |Back cover Aluminum alloy
HFCI50 306 280 12 16 1 2 3 4 5 6 4 |Screw Carbon steel
HFCI63 537 502 16 7 |5 [Magnetwasher [NBR
|6 [Magnet Sintered metal(Neodymium-iron-boron
HFCY16  [16 14 4 8 [7 Ipist | NBR
HFCY20 |28 25 4 - o
HFCY25 147 2 6 8 |Rod packing NBR
. 9 |Countersink screw| Stainless steel
3grippers |HFCY32 |82 74 8 9 [10 [Cover blank Stainless steel
HFCY40 |130 118 8 I~ [11 [Pistonrod Stainless steel
HFCY50 [204 187 12 12 | Gripper Stainless steel
HFCY63 |359 335 16 13 |Bumper TPU
HFCX16 |12 10 4 14 |Piston Aluminum alloy
HFCX20 |21 19 4 15 |Magnetholder |Aluminum alloy
HFCX25 |35 31 6 16 |Body Aluminum alloy
4 grippers [HFCX32 |61 55 8
HFCX40 |97 88 8
HFCX50 |153 140 12
HFCX63 |268 251 16

Note) The gripping force in the above table is in the working pressure of 0.5MPa, and
with a gripping point of L=20mm(® 16~ ® 25) or L=30mm(® 32~ D 63).
Add) Please refer to page 405 for the definition of "L".

A 403



www.laheghi.com

Air gripper(parallel open/close type)

AIl'TAC

HFC Series

O Dimensions

Two grippers

®16~D25

DA_ . PBPA
I
m¢ B
<o ©
22 a
T3 o 1 N
23 N 2-P
&3 ®
A
AB
DK Dp:KA
Mo et—19 ¢
2-L Dp:LA

JC
®JA(Countersink)
¢ Dp:JB
+ O S
T (, 4-E Dp:EA
EB
EC

2-0J(Thru.hole)

Three grippers

PA

2P

Opened: UA

EB

®B
EC

3-®J(Thru.hole

Typelltem A AB B C CA CB D DA DB E EA

®JA(Countersink)
Dp: JB(P.C.D=0JC)

(@]

Type\ltem A AB B CA CB D DA DB E EA EB ECJ JA JB JC JD

HFCI32 |45 (3 [55 (8 381 [14 |20 23084 [292 |9 [M4x0.7 [8 |11 [45/4.2(8 [9 [38 |25
HFCI40 |49 3 |62 [8 385 [16 |21 (31081 292 |9 [M4x0.7 [8 |12 |45[5.2(95(9 |44 |28
HFCI50 |57 [3 |70 {10393 [18 |24 |4 108% [2°% [10 [M5x 0.8 [9 [14 |5 |5.2]9.5[12 |52 |34
HFCI63 |68 [4 |86 [12:091 [24 |28 (63307 342 [11 |[M5x 0.8 |9 |[17 [55/5.2(9.5 (14 |66 |38
Type\ltem K KB KC KD L LA LB LC N P PA PB UA UB
HFCI32 |33 5 20523 [M5x0.8 |10 34+0,05 M5x0.8 |8.5(16 |24 |16
HFCI40 |43, 6 235 (265 |M6x 1.0 [12 [44 [28 [42*9%5 |2 |M5x 0.8 [9.5 [17.5 [28 |20
HFCI50 |48 6 |28 [31 |[MBx1.0 [12 (52 34 [52*%5 |2 |M5x0.8 (95 [21 [34 [22
HFCIB3  |51%: 7 (34538 |M6x1.0 |12 |66 (38 [65*%%° [25 [M5x0.8 [12 |24 |46 |30

404

HFCI16 (35 [3 (30 [5301 [8 [10 [2:39¢ 2*92 [4 |M3x05 [5 |6 [2 [34]6 |6 [18 16 ||| [HFCY16 |35 |3 (30 |5883 |8 [10 [23087 |2*%2 |4 |M3x0.5 |5
HFCI20 (39 [3 [36 [6:3%7 [10 [12 [213%4 [2*92 [5 |M3x05 [5 |7 [25[34(6 |6 |24 [18 ||| |[HFCY20 |39 |3 [36 |6 603 |10 |12 |2:087 |2*%2 |5 |M3x 0.5 |5
HFCI25 (41 (3 |42 6391 [12 |14 |23383 12*%% |6 |[M3x05 (5 [8 |3 [34(6 [6 |26 |22 HFCY25  |41.{3 (42 |6 003 |12 |14 |230:0 12*%% |6 |[M3x0.5 |5
HFCY32 (45 |3 |52 |8 091 [14 |20 [23838% [2*92 |9 [M4x0.7 |8
Typelltem K KA KB KC KD L LA LB LC N NA P PA PB UA UB ) 0 s =
o o HFCY40 |49 |3 |62 |8 331 [16 |21 33001 [2*%% |9 [M4x0.7 |8
HFCe 23381 12 3 |11 [125[M4x0.7 |8 [18 |16 [17°9% [1.5 [M3x0.5 [7 [10 [14 [10 - 0 03
ot o0 HFCY50 (57 |3 |70 [1033 |18 |24 [4300% [2*%% |10 [M5x 0.8 |9
HFCI20  [2303% |2 |3 |13 [145 [M4x0.7 |8 [24 [18 [217%% [15|M5x0.8 |7 [13 [16 |12 D (o5 W5 11230 (2 (28 0% 302 11 WEx08 |9
HFCI25 33034 (3 |5 [145(17 [M4x0.7 |8 [26 [22 [26°9% [1.5 [M5x 0.8 [7.5 [14.5 [20 [14 L 001 1° 0 :
Type\ltem EB EC J JA JB JC K KA KB KC KD L
+0.
©32~063 HFCY16 |6 [2 [34]6 [6 [25 2:_ 2 3 |11 [125|M3x05
HFCY20 |7 [25(34(6 [6 |29 [23001 [2 |3 [13 [145 |M3x05
__ DA HFCY25 |8 |3 [45(8 |9 |34 |3:091 [3 |5 [145[17 |M4x0.7
f PB, PA HECY32 |11 [45 (458 |9 |44 [350% [3 |5 |195]22 |M4x07
8 . HFCY40 |12 [45(5.5(9.5|9 |53 |41001 |4 |6 |235 (265 [M5x0.8
I o HFCY50 |14 |5 |5.5(9.5(12 [62 43301 |4 |6 [28 [31 |M5x0.8
22 @\ HFCY63 |17 [556.6 11 [14 [76 [5:3%% |5 |7 [345[38 |M6x1.0
g T 2P
5 3 @ Type\ltem LA LB N NA P PA PB UA UB
°° HFCY16 |6 |25 [17*9% [15 [M3x05 [7 [10 [7 [5
@ HFCY20 |6 |29 [217%% [1.5 [M5%08 (7 [13 [8 |6
& HFCY25 |8 |34 |26*%" |15 [M5x0.8 |75 [14.5 10 |7
S £ HFCY32 |8 |44 |3479% [2 [M5%08 (8516 [12 |8
s g HFCY40 |10 |53 [427%% |2 [M5x0.8 [9.5 [17.5 [14 |10
2|5 HFCY50 |10 62 [52*G% [2 [M5x 0.8 (95 |21 [17 |11
A =lo +0.05
= B < N i HE HFCY63  [12 |76 |657%% [2.5 [M5%0.8 |12 [24 [23 |15
S S . ©
a (=) —1r ] -,
s \ ; .
Fan\ fany
RN A 563
LlelCH) e F 19 < pmeD | Oelgos
i ~ e V@ | ©
N <
s o0 Z =
— < =)
oo g Ec_| [EB| Y
KB | KC KD _|
3



www.laheghi.com

o

Air gripper(parallel open/close type) AIl'TAL

HFC Series
Four grippers O How to select product
©16~D25 Please select pneumatic finger according to the following steps:
The selection of the effective gripping force — the confirmation of the gripping point.
1. The selection of the gripping force

< m i 0 .

25 The gripping work-pieces The work-plece§ as shown in the left:

g3 o shown above, on the impact Ir:\_.(r;\lrii?;iirg%?crlepp(e’\‘r)

g— 8 condmon ofordlnary u : friction coefficient between fittings
handling state, taking safety and work-pieces.
coefficienta=4, have a m: mass of work-pieces
gripping force that is more g: acceleration of gravity (=9.8m/s")
than 10-20 times of the - _

LB JC 2-0J(Thru.hole) WEL } WWF nass of the gripped objects. | The condition that the work-pieces
pr— X mg won'tdropis:nx pF>mg
®JA(Countersink)
ONDp:NA 3 p Dp: JB p;g.Z Hzn?é1 so: P>
\"4
i ,AL| ! z:# F:Qxﬁjx“ F= 2%0.1 x4 Safety coefficientis a, so Fis:
S h O =10xmg =20xmg L
a e OF | \&-EDp:EA ] ] nx
< LDp: 10 times of the 20 times of the
20 ;&ﬂ EB mass of the mass of the
KB| | KG | KD EC gripped objects gripped objects
Note) If the friction coefficient p >0.2, for safety, please also select clamping force
Type\ltem A ABB C CA CB D DA DB E EAEBECJ JA JB JC JD according to the principle of 10~20 times of the mass of the clamped objects.
HFCX16 |35 |3 |30 5331 |8 |10 [2:39% [2*9%2]4 [M3x05 |5 [6 [2 [34/6 |6 |18 |16 As for large acceleration and shock, it requires for greater safety coefficient.
HFCX20 |39 |3 |36 |6:3:3% [10 [12 [2:3:8% [2*9% |5 [M3x05 |5 |7 [25(34|6 |6 |24 [18 - » - . -
HFECX25 |41 |3 |42 |6 991 [12 [14 [2:38¢ [29Z[6 |M3x 05 |5 |8 |3 [34]6 |6 |26 |22 1.1) The actual gripping force must be within the effective gripping forces of different

pneumatic fingers specifications shown in the below chart.

Type\ltem *004 KA KB KC KD L LA LB LCN NA P PA PB UA UB Opened gripping force(l Type) HFCI16

HFCX16 23884 |2 [3 |11 [125 M4 x0.7 [8 [18]16 [17*3%% [1.5|M3x 0.5 |7 |10 [17 [13 —r —
HFCx20 (23881 [2 3 |13 [145|Max0.7 [8 [24 [18 [217°9% [15|M5%0.8 |7 [13 [19]15 30 [ il Preseuca e
HFex2s (33831 [3 |5 [145 (17 [Max0.7 [8 |26 (22 [26*9% [1.5|M5%x0.8 [7.5[14.526 [20 = | Ll ! obwpal ||
8 [l } i [}
R <
D32~D63 & g = ~ 1 oawe
DA &bt ‘\‘\—i\‘i
—=m="- _PB_PA L © 1 02WPa
- r—r T
8“‘% o 5 10 15 zi} 25 30
(=]
5% $ @\ Gripping point L (mm)
Bl -4 —-—2P HFCI20 HFCI25
28 60 F—>~I-prassiraoampa T ] 1 roT
©° © - - L jﬁjﬁjml 1™ "W:Jr;asm;"r’
a 3 40 NEM\Pa ] }r g > ‘OSMEa‘ -
S == === oS 4
2\ S \Wa I S 60 |- =4 I~ e
T3 g Sty | 2 — N
'E 2 £ 2 Wil,,,,ﬂa,%, g qof-—-! o= l0.3MPal -
s A i §§ o Tor—Oakpa || © o b T———loawpal |
< < AB == I
= < oS 1
a <O 0 10 20 30 40 0 10 20 30 40
g g |_ Gripping point L (mm) Gripping point L (mm)
_ HFCI32 HFCl40
A Ble |13 N B o B B S D
x = A\\\\ I I = I I I I I
5N - & Foetitnl || BN TR
\ o 120 i o 200 T ==
* g Y 3 5 =R s ——_0.4MPa
> = 2 g0 - ——+— 5, 150 -+ e
° i o S g \‘F\O\A_a P g_ }\\ h.3MP,
20°1 20 g EB = S 60 e — P 100 [ e e B
KB KC ko | o EC 5 — & ———— bawel
~ 30 ’:’ 10 TP 50 **’T —— o thPR—
0 10 2‘0 30 40 50 0 1‘0 20 30 40 50
Gripping point L (mm) Gripping point L (mm)
Typelltem A ABB C CACBD DA DB E EAEBECJ JA JB JC JD HECI50 HFCIB3
HFCX32 |45 |3 |55 (8 331 [14 [20 23384 [2*92 |9 [M4x 0.7 [8 |11 [45]4.2[8 |9 [38 |25 " 7”&17\4‘:174‘7 = =TT Plessufe 0.6\IFa |
HFCX40 [49 3 [62 [8 883 [16 |21 [3:831 [2*92 |9 [M4x0.7 [8 [12 |45]5.2[9.59 [44 |28 - I Sh sy My ] e e
0.0 0.0 702 \;\ O,SM}’a | MMPa\ I
HFCX50 |57 [3 (70 [10:8.31 [18 24 |413%% 292 |10 [M5x 0.8 [9 [14 [5 |5.2|95[12 [52 [34 © 300 = MPa_ | | . |EE = |
HFCX63 |68 [4 (86 [12:03] [24 |28 [6333¢ [3°92 |11 [M5%0.8 [9 [17 [5.5|5.2[9.5]14 [66 [38 s \:\\ﬂwai S ,,J‘T\\:#Mpa A
=4 _ i — ) L X
Typelltem K KA KB KC KD L LALBLCN NAP PA PB UA UB e e e e I B e e e
HFCX32 [31334(3 |5 [205[23 [M5x0.8 |10 (38 |25 [34*%% |2 [M5x 0.8 [8.5[16 (28 |20 RN I e i S ¥ T E ) B BRI S e o e S
HFCX40 (41384 |6 [235[26.5[M6x 1.0 [12 |44 [28 [42*9%5 [2 [M5x 0.8 [9.5[17.5[32 |24 1 0.1MPa ! L | 0tMPal__|
HFCX50 [410%¢14 [6 [28 [31 |M6x1.0 [12(52 (34 (52*4%5 [2 [M5x0.8 [9.5(21 |38 |26 Lo L1 R R R R
HFCX63  |5:9%4 15 |7 [345(38 |M6x1.0 [12 66 [38 [657%%5 [2.5 [M5x 0.8 [12 [24 |51 [35 0 20 40 60 0 20 4060
Gripping point L (mm) Gripping point L (mm)

A 405



www.laheghi.com

o

Air gripper(parallel open/close type) AIl'TAL

HFC Series
Closed gripping force(l Type) Opened gripping force(Y Type)
HFCI16 HFCI20 HFCY16 HFCY20
oL __T__T__T _"TI 60 T _ T ___1___T7] BF-—F—F——I——T——T-——1
Plessuré 0.6MPa | I I I ! I l 0 0 l l I 40
I 0/5MPa | I I | I I | TgsMpa ||
0.5MPa -
g 20| Lottt | g oaol T _oweal | ] g | kMR | g a0 R
s 1 lodpal || | 2 e | A e R R A e
[ b= 4 — J.aikFka o | (=2 B (=2} .
E e | B e O L s e ] [ = R
R S o AT £ ”w’{“ g 1 o3wPa ] i N
| ‘\% \‘\‘L\ija L 5 dl I 10 B | N : \MP%
el B e e il K @A N
0 5 10 15 20 25 30 0 10 20 30 40 0 5 10 15 20 25 30 0 5 10 15 20 25 30 35
Gripping point L (mm) Gripping point L (mm) Gripping point L (mm) Gripping point L (mm)
HFCI25 HFCI32 HFCY25 HFCY32
T T T T T T T T T 70 Prossup0.6MPa | 1] 120 T T T T T
| | | | I IPresstre 0.6MPa | [Pl I I I b e 0.6MPa !
100 ————+————k——0—64‘—P———‘k— 150 \i777F77T77 60 \\J | :T | 100 Nfﬂ:ﬂiff:fffflr
“~L__ Predsure 0. a |
= wf- AT L 2 LR = 50 ‘ z g Ll |
® T 0.5MPa } @ 0}4MP‘ } Q40 - @ \;\MMPH }
] e S ey B I e i o s ook || | S oo
=S — 10.4MPa = [ ‘> 30 S i = I 0.3MPa |
£ 4ol == ——3 L 2 gl T pSMRa | = —1 03MPa | 2 40 A B ol
§ \m ? I | i b.2MFTa § 20— I R a ? \’—ﬂ:_—}rﬂa }r
© © 30—t AMPa | St T | Caopd ol OdMRa Y
| | | | | | | | | | | | | | |
I I I I I i I I I I I I I I I
0 10 20 30 40 50 0 10 20 30 40 50 0 10 20 30 40 50
Gripping point L (mm) Gripping point L (mm) Gripping point L (mm) Gripping point L (mm)
HFCI40 HFCI50 HFCY40 HFCY50
R e A O N R e e
250 F——t———5——t—nak5L +— I T T T T 200 F——+—————+———F——+— I S A I N A |
T\;@EO'S\M’% } Wep.GMF{’E } }Pressu‘lreo SMPB } 2300 | ST 77—\(
= = = d
200 ol L [ 300 L_— A T ] 160 F——+—— >~ -—---1-4 250 I i
S 0BMPa ¥ T 0.5MPa |
: 150 : N g120 | Wflﬁfoiprq‘fﬁL S0
> ~'5’200 } L__I—= ; OAMEEL > T\'\\MMPa =
= = | | | | = | | | 0 BMﬁa 3150
£100 9 w e =i O P
© © Svmo—%:éf © - 2
t t Mt |
50 il e I X T 40 [ iR s0]
I o o | T I
| | | | | | | | | | | | | | | | | |
0 0 20 40 60 0 10 20 30 40 50 0 10 20 30 40 50 60 7d
Gripping point L (mm) Gripping point L (mm) Gripping point L (mm) Gripping point L (mm)
HFCI63 HFCY63
il T T 11 T T T } }
|| Pessup0.6MPal oo [ EES S N O
=TT —lpressire0.6hPa |
| | | g
o : 400 [SEIEEE— =SS
8
2 L 2300 L NSMP%‘ ,,Jr,,
2 : o =
g i | loaura |
£ Baoo |- e pAMEa_L__
&
100 Wa !
e
—
0 20 40 60 0 20 40 60 80 100
Gripping point L (mm) Gripping point L (mm)

406 A



www.laheghi.com

AIl'TAC

407

(parallel open/close type)

ir gripper

HFC Series

A

T T T T T T T C a\\\,\\\\\ﬁw —T-12 =
Y Y I B o = | | o o & = T @ o] & ® £
i S E e - B ol W\W e g
, E o | I 1= = E £ - LSS - ~
g S i | B B IR T R B .
Lo 2 4 STTEIT I < — W\O. [ [ I =
sl == [ - i ~ -
S z e, &) 5, s I g 0 :
® 3 EREEIN ® 3 N S g
s & = 8 I I I - I I I I =
12 , 2 o | 2 | I I I 2
18 [ 2 LS N O Y O YO = 1] S |
y | & WamiaRIn = I e S
| i o £ 2 | =
/- —H——+—— = ————— = | | | | | | | |
| " S e S e e I
| | |
| | | | | | | | |
” I I I I I - I 0, 0, n,v _
QS X SR 8 ¢ 8 v i 2 m 3 3 3
Fs) 3 N 9240} Buiddug e N 8204 Buiddug
L
w ju = pu
T T T T T e e e T
L = T T T J T — i | — S 1 - =
T 8 = F e ol 2 E - = atbod-wl ol -al-d8  E
£ I I = == £ © e - T o B A ~
e Q= [ == ] I 1 2[8 & S IEI) &g 2
kS ~ o § g I slal sl o ol iz =l 21 S = | o
| | 5/d o . lof Lo H-<
= o 1= e 8 - = m\a, T alis[is]i o] o o
T . 2 | o s a @ —
o =3 N — o = - ® = | = lof LI f1_h_ 4L | =
> g vzl | | ) BT 8 BT 5
= F-4 2 a F=t8-/4 < 2 8 S| | > il I L | >
= £ 2 I I | g a __Ji ] 1]l o £ T Y N [ £
= | o £ ,P | | = T I | I N =% | | | | | | —_— =3
] = 2 = | ] | | o I I | | | = T e k=
S 5 A ay a2 K i | | | | 5 [T K]
o ! & Y ' a7 .am R K Ll L 4l e o S A N A
b= 2= o W W W W | | | | | it ity Rt et it
g | i | | | | | | | | | | | | | | |
= Lo ” ” ” ” i I I I I I I I Y IR I N
=y @
o o o o
.W nvm N 990} Buiddug m N 9910} Buiddug e N 9010} Buiddug Q N 9910} Buiddug
w T
m pu x pu
[
o
o
T =TT
2z [E lssee Poell i 1 1T =
- E £ | 2 gk E Pl - —d--hb 2 E
S = E__= =3 = : = ] Il g I g
© S = ISR N N () I SO
o - =t i - TS TS )
N 15 5,\ | | | o 1 ol 2= o
o = e | t S = L >[N 12 =
2 £ 12 [ < i I S e oSlio| & S
2 [ I | | a | 3 o a
e 3 7 L | e v ot S
-5 T & L_a (S S I I PR =
= £ I 2 @ TR &
2 £ )
o \\,A\\ e B it ety L o ,ﬂ\\,ﬁ\\\\ A,ﬂ\\,ﬂ _ ) ©
© W W W W W | | | | | | |
| | | | | | | | | | | |
o o
& ° glgs s s & < B35 88887
5 &) 8010} Buiddi O 9010} Buiddi
o o ! e N 1ddr
T E= T
T T T T = ! l l i ] -
= —_ = |
3 S At a4 -8 T | £ € S S | €
[ B - £ ! £ E bel £
i al & v = = - ol |
N~ Tg T~ =[] o S == i | 1o o o o |5
£ 4 397 . s o - g EE €53 -
- R g BEEREE R
i 2 A LR B R [N -— -— I m, (g g - : =
| IS m | | = \\.M.Y E c \\+\\WTM\+@ SRS e
! = ! ! S = S X a2l | | i =4
— H-———43y—H-—Ft—p—H———2 a 12 =9 L i | | -
@ | 18/ 1 | | I = 2 o | | I o =
= == < = P I | N W £
= i it | | < r& £ £ q T | T S &
= H===aS === & s = | | i | ! =
i = = 5 i i |
z ! ! ! ! i 9] [ S} © F4--L--LelJ--dyl 1 ©
3 H-——tb-db-Jbd 0 7 i I I I I I
m | W W W W , | | | | W W
I I I I
o I I I I I L o : ™ o o o o o
2 eR & ¢ 2 w ° & 8 S 3 18 g g g g
= N ©
= N.V N 9210} buiddug &) N 9210} buiddug W N 8210} Buiddug m N 9210} buiddug
= W W T T
=
(=]
°
[
[
=
(S)



www.laheghi.com

o

Air gripper(parallel open/close type) AIl'TAL
HFC Series

Closed gripping force(X Type) O Installation and application
1. Due to the abrupt changes, the circuit pressure is low, which will lead to the decrease of the gripping force and
falling of the work-pieces. In order to avoid the harm to the human body and damage to the equipment,
anti-dropping device must be equipped.
2. Don't use the air gripper under strong external force and impact force.
3. When install and fix the air gripper, avoid falling down, collision and damage.
4. When fixing the gripping jaw parts, don't twist the gripping jaw.

L - 5. There are several kinds of installation method, and the locking torgue of fastening screw must be within the
prescribed torque range shown in the below chart. If the locking torque is too large, it will cause the
dysfunctional. If the locking torque is too small, it will cause the position deviation and fall.

HECX16 HFCX20 Tail installation type - — A‘V
e I e e oo |
: ! ! ! Pressure 0.6MPa ! (©)
7777\‘\\ | 4% 4‘: ; | | ]:77 !
= | | = |
8 T ‘ ] | ] ‘
s - | k] ‘
o | o
g =
15} 5] Bore The bolts Max. locking Max. screwed The aperture of the  The depth of the
size type moment(Nm) depth(mm) positioning bore(mm) positioning bore(mm)
16 |M4x0.7 |21 8 ®17 1005 15
20 [M4x0.7 |21 8 ©2179% 1.5
Gripping point L (mm) Gripping point L (mm) c 25 (M4x0.7 |21 8 © 26 *0.05 15
Mo [32 |M5x08 43 10 034705 2
HFCX25 HFCX32 40 [MBx1.0 |73 12 ©42°9% 2
; ; ; ; T e‘MPa ; 50 |M6x1.0 7.3 12 ©5279% 2
= 75 ”’Klj""f"*‘" 63 |M6x1.0 |7.3 12 ©65 90 25
Fiefaurel SN L _O05MPa | 16 [M3x0.5 |0.88 6 177005 15
~ 40 ,,E\\,,,,,,,,,,L, = 60| =1l 05MPa | | x0.5 |0. .
N | osPa | - LLM ! 20 |M3x05 |088 6 21790 15
2 30 s g 5 Y e e 25 |M4x0.7 [2.1 8 ©26 4% 15
E L 2 g | HFCY |32 [M4x0.7 [21 8 34 7908 2
g g L D2MRa 40 [M5x0.8 [43 10 42700 2
@ D e i 3 50 [M5x0.8 |4.3 10 ®52 7005 2
N R R 63 [M6x1.0 [7.3 12 ©65 005 25
0 10 20 30 40 50
Gripping point L (mm) Gripping point L (mm) The installation of the front through hole
Model Bore size The bolts type Max. locking moment(Nm)
HFCX40 ‘ ‘ ‘ ‘ ‘ HFCX50 ‘ ‘ ‘ ‘ ‘ : 16 M3 %05 0.88
! [ ! 200 [——b—-+t-—+_—1_ 1 / 20 M3 x 0.5 0.88
125 | ——+-—f et B VI +-— I | | | | |
[ EeepUSy s 6P el vz v wroy 5 |Mox05 o
=100 777W777+W =150 i : 77‘*”*6.5!%%5% ‘ HFCX 32 M4 x07 21
8 75 B 8 ‘ i | ! ! I 40 M5x 0.8 43
5 S100 ,,,Mﬁ@r \ 50 M5x0.8 |43
250 g | 0dWPal - ! 63 M5 x 0.8 43
g, S 5= L2Mra, | 16 M3x05  |0.88
© % e e 20 M3x05 088
0 . ! 2\0 ! 4\0 6\0 25 M4 x 0.7 2.1
HFCY |32 M4 x 0.7 2.1
Gripping point L (mm) Gripping point L (mm) 40 M5 % 0.8 43
50 M5 % 0.8 4.3
M6 x 1.0 i
HFCX63 8 = 3
F-T——TFT——t-——F=TF—1-——1
l 4 } Pﬁessuﬁp O.GMPa} . . Lo -
300 e W ] 6. The installation method of the gripping jaw fittings
,,,:,,,:, i L 0.5MPd__ | When install the gripping jaw fittings, you have to pay particular attention that you can only hold the gripping jaw
= o by using spanner, and then lock the screws with allen wrench. Never clamp the body directly and then lock the
200 bodeed 1 _| 0.4MP4__ | ) ) .
3 L screws, otherwise the parts will be easily damaged.
L2 7—4%%: R —
72’100 b T 0.2mPa Install the gripping jaw fittings
a == —
A R
0 } 2}0 } 4\0 ! 6\0 L Bore size The bolts type Max. locking moment(Nm)
16 M3 x 0.5 0.59
Gripping point L (mm) 20 M3 x 0.5 0.59
25 M3 x 0.5 0.59
32 M4 x 0.7 14
40 M4 x 0.7 14
50 M5 % 0.8 28
63 M5 % 0.8 28

408 A



www.laheghi.com

